ADAPTER WA/  Winner Fluid
—
L1 B
11
“ Iy
=
] L%L METRIC MALE 24°CONE / BUTT WELD
s2 \8l
1CW 1CW-RNW REF. 1SO 8434-1
1DW 1DW-RNW
PART NO. E TUBE O.D. DIMENSIONS
BODY ASSEMBLY THREAD D1 D2 B [D| 1|1 [s1]s2
L SERIES
1CW-12-06 1CW-12-06RNW M12x1.5 6 7 10 7 22 12 | 14
1CW-14-08 | 1CW-14-08RNW M14x1.5 8 8 12 23 | 14 | 1/
1CW-16-10 1CW-16-10RNW M16x1.5 10 10 8 14 10 24 17 | 19
1CW-18-12 1CW-18-12RNW M18x1.5 12 12 8 16 10 25 19 | 22
1CW-22-15 1CW-22-15RNW M22x1.5 15 15 10 19 11 26 24 | 27
1CW-26-18 1CW-26-18RNW M26X1.5 18 18 10 22 | 135 28 27 | 32
1CW-26-22 1CW-26-22RNW M26X1.5 18 22 12 27 | 125 28 27 | 32
1CW-30-22 1CW-30-22RNW M30x2 22 22 12 27 | 16.5 30 32 | 36
1CW-30-25 1CW-30-25RNW M30x2 22 25 12 29 | 135 30 32 | 36
1CW-36-28 1CW-36-28RNW M36x2 28 28 12 32 | 185 33 41 | 41
1CW-45-35 1CW-45-35RNW M45X2 815 85 14 40 | 185 36 46 | 50
1CW-52-42 | 1CW-52-42RNW M52X2 42 42 16 | 46 | 19 | 39 | 55 | 60
S SERIES

1DW-14-06 1DW-14-06RNW M14x1.5 6 7 11 11 26 14 | 17
1DW-16-08 | 1DW-16-08RNW M16x1.5 8 13 | 13 28 | 17 | 19
1DW-18-10 1DW-18-10RNW M18x1.5 10 10 15 | 125 29 19 | 22
1DW-20-12 1DW-20-12RNW M20x1.5 12 12 10 17 | 145 31 22 | 24
1DW-22-14 1DW-22-14RNW M22x1.5 14 14 10 19 16 34 24 | 27
1DW-24-16 1DW-24-16RNW M24x1.5 16 16 10 21 | 16.5 34 27 | 30
1DW-30-20 1DW-30-20RNW M30x2 20 20 12 26 | 175 39 32 | 36
1DW-36-25 | 1DW-36-25RNW M36x2 25 25 121 32 ] 20 | 44 | 41 | 46
1DW-42-30 1DW-42-30RNW M42x2 30 30 14 37 | 205 47 46 | 50
1DW-52-38 | 1DW-52-38RNW M52X2 38 38 16 | 44 | 22 | 54 | 55 | 60

1. Carbon steel for connector body and nut, oil protection for body and plating for nut.




